3)

10

(1)
(2)
C)

(1)
(2)
(3)
(4)
)
(D
@

3

(4)

25

22

(trandation)

7(1996) 25
11 12
)
(2)
(current-noncurrent method)
(curent rate

(historical rate
(monetary-nonmonetary method)

(tempora method)

(closing rate method)

IO 4)

M@

54(1979)
11(2000)

€D
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or

Avarage Rate

X

or

- 19 -



111

10,000 4%
10/31
¥120
3/31 ¥123
10/31 ¥124
1171 1,200,000 1,200,000
10,000*¥120=¥1,200,000
3/31 12,500 30,000
17,500

10,000* (¥124-120) *=¥30,000

( )
@ )
¥30,000* 5/12=¥12,500 ¥30,000* 7/12=¥12,500
20,500 20,500
¥1,230,000* 0.04* 5/12=¥20,500
10/31 1,230,000 1,240,000
27,500 17,500

10,000* ¥124=¥1,240,000
¥27,500= 10,000 * ¥124 - ¥1,230,000 + ¥17,500
20,500 49,600
28,933

10,000 * ¥124 * 0.04 = ¥49,600

H12.4. 1 97,000 1= ¥122
100,000 0.05%
H15.3.31
H13.3.31 1= ¥124
1= ¥123.8
97,500
H14.3.31 1= ¥123
1= ¥1229
98,600
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H124. 1

H13.3.31

H14.3.31

(1)
(2)

111

12/1

3/31

10/31

11,834,000 11,834,000
97,000 * 122=11,834,000
123,800 123,800

(100,000-97,000) /3* 123.8=123,800
133,200 133,200

124*97,500  (11,834,000+123,800) = ¥132,200

100,000* 0.05* 124* 6/12=¥310,000

310,000 310,000
122,900 122,900
(1100,000-97,000) /3*122.9=122,900
47,900 47,900

123¥98,600  (11,834,000+123,800+122,900)= ¥ 47,900

307,500 307,500
100,000* 0.05* 123* 6/12=¥307,500

10,000 4%
10/31
¥120

¥122 ¥123.5
¥123

¥124

-21 -



1171 1,200,000 1,200,000

10,000* ¥120=¥1,200,000
12/ 1 20,000 35,000
15,000

10,000% (¥120.0*122.0) = - ¥20,000
10,000* (¥122.0*123.5) = - ¥15,000
3/31 6,250 6,250
¥15,0005/12 = ¥6,250

20,500 20,500

¥1,230,000* 0.04* 5/12=¥20,500
10/31 1,235,000 1,235,000

(12/1)
8,750 8,750

¥8,750= ¥15,000 - 6,250
20,500 49,600
28,933

10,000 * ¥124 * 0.04 = ¥49,600
12/1
¥124 ¥1235 10,000*
(¥124.0-123.5) =5,000
¥5,000
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